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= AT s JKH EMEfE 153ha 14 2 1 0 0
= AT £ = 7K H EBE(E 81ha 20 4 2 1 0
(% L g JKH EBEfE 149ha 18 2 3 0 0
= EET tetth — JKH EBE(E 43ha 17 3 1 0 0
= #EET R JKH EBEfE 127ha 34 7 5 0 0
TIF:N:) JKH. HEBEfE 261ha 39 3 3 2 0
=HETEE JKH EBEfF 46ha 12 1 2 0 0

=2W |=HarEz JKH EBEfE 177ha 6 2 1 0 0
=HEAR JKH EBEF 167ha 7 1 1 1 0
2 hETILE JKH EBE{F 170ha 18 2 1 5 1
2 hETEED JKH EBBEfF 48ha 22 4 3 0 0
FEfEET JKH . ¥ EBE(E 34ha 19 1 2 0 0
—EHT JKH. R EBEEfE 6.8ha 28 3 4 0 0
BAEHETEAE £ JKH EBE(F 254ha 24 2 3 6 1
Bt FE BT B EE o JKH EBE(E 167ha 6 1 0 3 0




